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<blockquote>

<p>fH: Implement a method to perform basic string compression using the counts of rep
ated characters. For example,the string aabcccccaaa would become a2b1c5a3.If the "compres
ed" string would not become smaller than the original string,your method should return the o
iginal string.</p>

</blockquote>

<script async src="https://pagead2.googlesyndication.com/pagead/js/adsbygoogle.js"> </scr
pt>

<l-- BEIRPCIaFAER-FER -->

<ins class="adsbygoogle" style="display:block" data-ad-client="ca-pub-5357405790190342"
data-ad-slot="8316640078" data-ad-format="auto" data-full-width-responsive="true"> </in
>

<script>

(adsbygoogle = window.adsbygoogle || [1).push({});

</script>

<blockquote>

<p>LM—170i%, ERRIHESFRILTREMTRTRES, #1MFlF, 78 aabcccccaaa
B ESE/9 a2b1c5a3, MNREFBIIFFFEREALLFIGF RN, (RIS EAFEREIFIEF TR, </
>

</blockquote>

<h2 id="fR-UBEE" > fFRAREE </h2>

<ul>

<li>KRFRIBFRNE, BHFFRNE2 AENEAERF R EBFha=E </li>
<li>BHFFER, TRFFRE—IFT, FRMBREESE 1A, &—E=/R5iiteg

1, BEA—EBEIT—LE</li>
<li> G HBItLRAIFR RS T SFHER R /R, BURFAERASRNETR, Fitit
B 1, BT~ ERDEFAERENET—E</li>
<li>tWREREFHAREESRAFAEIKE, BEEEHERNRE, WREEEENFASR, SR
JRYA=FFFER </li>
</ul>
<h2 id="fCRSsEI" > AL < /h2>
<pre><code class="language-c highlight-chroma"> <span class="highlight-cp" >#include</s
an> <span class="highlight-cpf">&lt;stdio.h&gt; </span> <span class="highlight-cp">
</span><span class="highlight-cp">#include</span> <span class="highlight-cpf">&lIt;string
h&gt; </span><span class="highlight-cp" >
</span> <span class="highlight-cp">#include</span> <span class="highlight-cpf">&lt;stdlib
h&gt; </span><span class="highlight-cp">
</span><span class="highlight-cp"></span>
<span class="highlight-kt">void </span> <span class="highlight-nf">test</span><span clas
="highlight-p">(</span><span class="highlight-kt">char</span> <span class="highlight-o
>*</span><span class="highlight-n">buf</span> <span class="highlight-p">,</span><spa
class="highlight-kt">char</span> <span class="highlight-o">**</span> <span class="highl
ght-n">prnt</span><span class="highlight-p">)</span>
<span class="highlight-p">{</span>

<span class="highlight-kt">int</span> <span class="highlight-n">res len</span> <span
lass="highlight-0">=</span> <span class="highlight-mi">0</span> <span class="highlight-
">,</span> <span class="highlight-n">ori_len</span> <span class="highlight-0">=</span>
<span class="highlight-mi">0</span><span class="highlight-p">;</span>

<span class="highlight-kt">char</span> <span class="highlight-o0">*</span><span clas
="highlight-n">res</span> <span class="highlight-0">=</span> <span class="highlight-nb
>NULL</span> <span class="highlight-p">;</span>

<span class="highlight-kt">int</span> <span class="highlight-n">i</span><span class=
highlight-p">;</span>

<span class="highlight-kt">char</span> <span class="highlight-n">tmp c</span> <span
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class="highlight-0">=</span> <span class="highlight-mi">0</span><span class="highlight
p">;</span>

<span class="highlight-kt">int</span> <span class="highlight-n">tmp count</span><s
an class="highlight-o">=</span> <span class="highlight-mi">0</span> <span class="highli
ht-p">;</span>

<span class="highlight-kt">char</span> <span class="highlight-n">tmpbuf</span><spa
class="highlight-p">[</span> <span class="highlight-mi">10</span> <span class="highligh
-p">1;</span>

<span class="highlight-p">}</span>

<span class="highlight-kt">int</span> <span class="highlight-nf">main</span> <span clas
="highlight-p">(</span><span class="highlight-kt" > void</span> <span class="high
ight-p">)</span>

<span class="highlight-p">{</span>

<span class="highlight-kt">char</span> <span class="highlight-n">buf</span> <span clas
="highlight-p">[</span><span class="highlight-mi" > 100</span> <span class="high
ight-p">1;</span>

<span class="highlight-kt">char</span> <span class="highlight-o">*</span> <span class="
ighlight-n">res</span> <span class="highlight-o">=</span> <span class="highlight-nb">
ULL</span> <span class="highlight-p"> ;</span>

<span class="highlight-p">}</span>
</code></pre>
<h2 id="&fTER">1={T5ER </h2>

<p><img src="https://static.hacpai.com/images/img-loading.svg" alt="i1z{7455" data-src="h
tps://ohjmh3hga.qnssl.com/image/blog/pic_ctci1 5.pg-origin"></p>
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